032798

CGboardonline.com

- :
T Wl e ;27
Total No. of Questions :-27']

( Time : 3 Hours ]

e k)

[ Total No. of Printed Pages : 8

A-151100-C

faww ; nftme
Subject : ‘Mathematics
[ qories : 100

[ Maximum Marks : 100
—

A oy : (i)
General Instruction :

- (11}

(1)

(iv)

v)

(vi)

(vii)

e ;Wi we & g

Note : Attempt all questions,
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Use of calculator is not permitted.
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Question No. 1 is in two parts. Part (A) Multiple choice questions
and Part (B) Fill in the blanks. Each question carries 1 mark.
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Question Nos. 2 to 9 are very short answer 4ype questions. Each
question carries 2 marks.

09T FE 10 ¥ 15 7F AMaIRTHd ¥ €1 W% WH W 3
arEifed T | '
Questiﬁ‘n os. 10 to 15 are very short answer type questions. Each
question carries 3 marks.
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Question Nos. 16 to 21 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
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Question Nos. 22 to 25 are short answer type questions. Each
question has an internal choice. Each question carries 5 marks.
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Question Nos. 26 and-27 are long answer type questions. Each
question has an internal choice. Each question carries 6 marks.
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-1 (GUe-3) wet fawew gaas fafay . 1x5=5
(Part-A) Choose the correct option :

() Al a, b o ¢ foamgem F &, 7@ b B FE T L

&) TEATIIRR (@) g
(&) =guigwt (R) T ¥ T
If @, b and c are in continued proportion, then b is known as :
(a) Mean proportion (b) Third proportion
(c) Fourth proportion (d) None of these
(i) Toret wwiat oR w1 Aal 98 3n—2 3, A Aol B 2097 T E
(1) 58 (%) 61
(¥) 64 (3) 67
The nth term of an A.P. is 3n— 2, then its 20th term will be :
(a) 58 (b) 61
(c) 64 (d) 67
Gi) o g ¥ frfyres giar € : CGboardonline.com
(3 & ) () & 0)
=) (0, ») (=) (0,0
Coordinate of origin is :
@ () (b) (0)
© (0 ) () @0

, cos62° )
(i) sin 28° A E

(37) -\;—5 (=) 0
@) () V3

cos62° . .
will be : CGboardonline.com.

The value of Sin 28°

by O
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(v) ufz Rt fiom & anum w1 dwe 10 =l e, v S 3 Ah. A, @ awm
amgas g8 ;. CGboardonline.com

(31) 10 @t2 (=) 20 9.3
-(]) 30 93 () 40 at.3
If arca of basc of a right prism is 10 em? and its height is 3 cm., then
its volume is :
(a) 10 em? (b) 20 cm?
‘(c) 30 e’ (d) 40 em?
1%5=5

(Pa_rt-B) Fill in the blanks : CGboardonline.com
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(i)
- Value of 90° in radian is ' N
(ii) ﬁwﬁﬂsﬁ%@aﬁmaﬁmwaw a=iall
T B T | |
The ratio of the areas of two similar triangles 18 equal to the
of the any two corresponding sides.
(iii) aTefgE W A FHU T 25 e §

The angle on semicircle is a

(iv) §&m 2 F1'9 FTH gl
The ‘9’s complement’ of number 2 18

) 1,201, 2, 1t AT gt |

The median of variates 1, 2, 1, 2, 1 will be

(100}, ) Franyrt YoTeR ¥ SHEd orel H SEferg |

-2
| Convert (100), from binary system to decimal system.
yer-3 & w0 i —x+ 1=0 % TEl AR TE AR 9K RIS
Find the sum and product of the roots of quadratic equation 2x2—x+1=0.
-4 T ) feenurd FoMel © Siifst : CGboardonline.com
1011+1101
Add the following through binary system :
1011+1101
P.T.O.
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frgall (-1 4) ® (-2, 4) & A AN g W waw) \
Find the distance between points (-1, 4) and (-2, 4).

@E (x +5) (x—T) =0 ® 7A@ Hifaw

Solve equation (x + 5) (x-7)=0.

90° ® Uz ¥ wftafida wifimg)

Convert 90° into grade.

ST H AR T ATEA 9n W FR, ai S 14 Ao &, W IHP AR
Hifsa

The area of base of a cylinder is 91 square cm and its height is 14 cm, then
find the volume of cylinder. *

A T AABC 3K APQR § AB=5 &L, PQ =10 . 3 QR=16 FA. &,
BC =1 9 W™ Hifg| CGboardonline.com '

In two similar' AABC and APQOR, AB =5 c¢cm, PQ =10 cm and QR=16 cm., then
find the value of BC.

o w250 st Y72 s dwa @d ST

x+3 x+3
Find th f the rational ons X8 ang 222
11 e sum ol the rational expressions 13 w43

2x-3y 6
Ife =2y 7 g, @ x:y & UM JW HfET

2x—3y 6 '
:7, then find the value of x : y.

o

?Tf:c{aaﬁTBEITfHﬁWaxz+bx+c=0%H§T€f,ﬁf B"‘% o HE FE e

If o and P are roots of the quadratic equation ax?+ bx + ¢ =0, then find the

a B
valueofﬁ o
TN A A% e $foea S w7 ¥ 300 wfome W W Y 5 9 F faw w
At S @ G e W SF gR 3% 2,745 U™ Wed fean T 1 =i
N Hi g F HINT | CGboardonline.com

Raju opened a recurring deposit account in Bank of India by depositing T 300
per month for 5 years and bank paid ¥ 2,745 as interest. Calculate the annual
rate of interest.
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T T
_;-:,?:1—_14 g wife fiF tan20—5sin20 =tan?0. sin20

Prove that tan?0 —sin20 =tan20. sin2 0

39 ¥ig wt fde I o vt fomem Sy 65m o Tex # s smam @ P
13 Hdfex §7? CGboardonline.com
What will be the slant height of the cone whose curved surface is 657 sq metre

| uy-15

and radius of base is 13 meltres?

S — cos0 cos0 P S

qy1-16
, [—sin®  1+sin0
. 0 cos0
ive th o8 =
Solve the equation I—si116+l+sin9
37T/ OR

el Bs & v TR vl & €)1 W o wo w1 A 105“%!Eﬂmﬂa‘mﬂ

F U s 9 Sy
The angles of a triangle are in A.P. The biggest angle is 105°. Find the value

of all the three angles in degree.
fag wifsg f&F fag (34, 0), (0, 3b) ¥R (a, 2b) z:m‘f@%n

g-17
Prove that the points (3a, 0), (0, 3b) and (a, 2b) are collinear.

CGboardonline.com 3r@r/ OR
39 fayst w1 9% 71 Hifae fwn 1w (2, 3), (4, 5) 3R (6, 2) ¥
Find the area of the triangle whose vertices are (2, 3), (4, 5) and (6, 2).

T—cosB
=cosec O —cot O

wpr-1s fog R

[-cos6
: =cosec O —cot O
Prove that [+ cos® cosec co

arear/ OR
af sin®@  1+cos@
e I+cos€' * sin6

sin@ ] 4+ cos 9
Prove that 1+cosB sinf

frdt AABC T £B e &iv ¥1 Af ADLCB ®, @ fag ®ig 76
ACZ=AB?+ BC?+ 2BC.BD

= 2cosec 6

=2cosec® CGboardonline.com

HI1-19
P.T.O.
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In a A4BC, £B is obtuse angle, If ADLCB, then prove that
2

JC“ AB*+BC?+2BC.BD CGboardonline.com

3|/ OR

el AABC ¥ 4B - =AC 3R D =1 BC W

wr fag 2, < fag Ffa fR

AB*—AD?=BD.CD
In a = : :
AABC, AB=AC and D is a point on B(, then prove that
. AB - 4D2=Bp cp
w20 T Wl = sges e it
SR 0-10 | 1020 | 20-30 | 30-40 40-50_]
HgHa 5 [ 7 12 32 20
Find the mode of the following table : :
Class interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 5 7 12 32 20
31T/ OR CGboardonline.com

Wy-21

qy-22

TF 9 H 5 o aur 7 W W ¥ 1 ok ww e ageed el Sme, @ T
i €t i frel T T (i) @il 9 W, () THE X B2

A bag contains 5 red and 7 white balls. If one ball is drawn at random, then
what is the probability that the ball drawn will be (i) red, (ii) white?

T 39 WP B 10 FW ¥ iR sww orw 20 T F) W e 2 .
g 9t fopan M oA 1 T €2

The hexght of a solid cone is 10 cm and its diameter is 20 cm. How many
spheres of diameter 2 cm can be made by melting it?

Jre|r/ OR

6 it 5= & & 39 T &I fyuerst 69 it g ¥ S mfedt w5
foregd 3 @91, 9 4 I €1 e e @ e 3w wfEw) |

A solid sphere of radius 6 ¢m is melted and recast into three spherical balls.
The radii of the two balls are 3 cm and 4 cm. Find the radius of the third ball.

CGboardonline.com
Eﬂﬂ%rﬂl : _

AL J1t {id
@ eaae |0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
&Gl 5 7 4 9 |20 7 8 3
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Calculate the arithmetic mean ; CGboardonline.com
Class interval |0-10 | 10-20 | 20-30 [30-40 [ 40-50 | 50-60 | 60-70 | 70-80
Frequency 5 7 4 9 20 7 8 3

3erE|T/ OR

40 T % TF VT 1 WAIRR T 64 &1 Tf 37 40 WA G A vEIE ° 5 F B

Tﬁmﬁﬂﬁmwwwqﬁml
inhe arithmetic mean of a set of 40 values is 64. If each of 40 values is
creased by 5, then find the mean of the set of new values.

W¥-23 Fifera 5 frd : o o _
?ﬁ fo forlt = forg A ga w S 7 vl Taisi #t <fawra awe S
| CGboardonline.com
:qrov;: that the length of tangents drawn from an external point to a circle are
ual.

' erEr/ OR
v wiY fafen wd fag Fifvw

State and prove Thales theorem.

WA-24 TN H A (g (WEH R W 1 SigeRt) < 1,80,000 ¥ | 9 WHA e
fify o wiee T 1,800, S S # REE T 1,500 9 SARCE. § TR
T 150 A1 HA@ ¥, O F AGHE F 0 Hif
(@) ST Al & : :

(i) ¥ 1,720,000 =
(i) ¥ 1,10,001 ¥ ¥ 1,50,000 W 10%
(iii) T 1,50,001 ¥ ¥ 2,50,000 T 20%
(iv) T 2,50,000 ¥ W W 30%

(b) fitenm STE—FA AEH F 3%
" Annual income of Ram (excluding HRA) is ¥ 1,80,000. He contributes t0 GPF
Z 1,800 per month, ¥ 1,500 per month in LIC and X 150 per month in GIS.

Calculate the total Income Tax payable by him :
(a) Rate of income tax | CGboardonline.com

(i) Up to ¥ 1,10,000 Nil
(ii) From ¥ 1,10,001 to 71,50,000 10%
(iii) From ¥ 1,50,001 to ¥ 2,50,000 20%
(iv) Above ¥2,50,000 30%
(b) Education Cess — 3% of total income tax.

srerar/ OR
P.T.O.
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— mﬂ@zﬁmaﬂ'wﬁn@ﬁwaﬁ%mrwmomﬁﬁﬁ
o R AR TN W 8 wirew =il €, & aafy gof 9w farll T W<
g, af = Wit ©: wE 9% E9few g 8?7 CGboardonline.com
" Ghanshyam deposited ¥ 10,000 in State Bank of India for 1 year in fixed
deposit account. If the rate of interest is 8% p.a., then calculate the maturity
amount if the interest is-compounded afier every six months.

L] l - | - 2
u9-25 U a:b=c:d ¥, W Tog Fiwg f& “_L*‘_"_ch‘ﬁ
b2 +d? bd
a* + ¢l _ ac
b2 +d?>  bd
Jear/ OR
UGS §id i ; x(p? —z2) + y(.::?-—-xz)+:f-'(1¢‘l ;yz)

Factorise : x(32— z2) + y(z2— x2) + 2(x*>— y?)
C &1 gReTEE TR, Wl AB=4.5 ¥, BC=5.2 Tl 7 AC=3 G

If a: b=c:d, then prove that

wyA-26 T39S 4B
Construct the circumcircle of a triangle 4BC, in which 4B=4.5 cm, BC=5.2 cm
and AC=5 cm. CGboardonline.com

srerar/ OR |
& e XYZ 98, Wl YZ=6.5 ¥, LX=60° AR XY YZ W& TG &
1 W fog £, ¥ A 4 A F gl W

Cons_trﬁct a triangle XYZ, in which YZ=6.5 cm, ZX=60° a.nd foot of
perpendicular P drawn from X on YZ, is 4 cm frgm Y.

100 & 200 d Ft T TGS F ATE T HAC

Hyi-27 |
Find the sum of all even numbers from 100 to 200.

arerar/ OR
CGboardonline.com

GHIHI Xl X 0 o gm

X x+1 2

x+1 X 5

' + ==,
Solve the equation ——+-—7=5 |




